TERX A A O#EET FR(H1802).xls

X £ TEX4 5 = H HEH
FREHX BLETHT 62 52 114 50
FRE#X L {chET 22 24 46 18
FREHKX {rhET 18 19 37 17
FRHE#X ABT—TH 15 17 32 15
FHREHX ABTZTH 22 22 44 14
FRHE#X ABT=-mTH 23 26 49 23
FHREMX 3ET 30 34 64 27
FHE#X SHT 48 48 96 40
FHREMX JCHT 50 77 127 49
FRHEHKX STHT 40 49 89 36
FHREMX ZAHHET 22 24 46 17
FRHE#X SEEMET 26 27 53 25
FHREMX T FHET 46 56 102 42
FRHEHKX L FHT 58 64 122 53
FHREMX JEHT 65 65 130 63
FRE#X LTEE 33 46 79 32
FREHKX FRAEET 23 35 58 31
FHE#X fin = ET 73 100 173 75
FHREMX N 393 447 840 351
FRHE#X THRE 119 143 262 117
FHREHX fEA 83 114 197 88
FRHE#X i E 770 851 1,621 594
FHREMX I 103 121 224 74
FHE#X B 54 66 120 44
FHE#X RBETRAR 321 333 654 215
FHE#X FRHET 415 526 941 323
FHREHX & AT 60 75 135 56
FRHEHKX L/ 464 502 966 280

FREMXET 3,458 3,963 7,421 2,769

HEHX AREETARZER 304 330 634 218
HERX KPR 107 123 230 72
HEHX & 136 136 272 84
HWEHX BE 112 148 260 79
HEHX HhE 93 122 215 88
WEHX s 18 17 35 11
HERXET 770 876 1,646 552

KiFHh X ] 489 569 1,058 430
RiFih X 03 ET 193 257 450 167
KiFih X =k 373 390 763 276
KiFih X KL 71 90 161 47
KiFHh X EEEF 73 75 148 49
KiFih X ItHE 162 170 332 100
KT ih X ThaE 181 160 341 88
KiFih X 1 = ET 138 158 296 115
KiFih X 7MLF 189 195 384 147
KiFih X REBF 283 369 652 284
KiFHh X AR 395 452 847 370
RIFHh X HERER 7 46 53 53
KiFih X AHEYIE 94 111 205 60
KiFih X HIVHE 510 556 1,066 349
KiFih X 22Ul R 267 290 557 161
K13 X G550 0VFY 5 18 23 23
KiEHh X 51 3,430 3,906 7,336 2,719
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X4 TEX4 E) £ H HEH
SfEHX FTRET1X 42 58 100 50
IITEHX FTRET2X 426 463 889 366
SfEHX FRETIX 223 217 440 180
IITEHX IMfEE—TH 254 368 622 263
e X MEEZTH 277 309 586 218
IITEHX MfEE=TH 484 482 966 345
STTEHEX IAEAEMTH 135 192 327 134
SL{EHMX = THT 354 368 722 280
SLfEHX 3] 250 288 538 217
IITEHX ol d e 650 678 1,328 467
SfEHX FTRETh HhE 124 143 267 121

S AEH X ET 3,219 3,566 6,785 2,641

KIIPIET P=E 86 93 179 50
KIINET INGR 73 79 152 52
KJIINET i 244 261 505 184
KIINPET et 43 51 94 43
KIIPIHET KINALL 117 128 245 73
KINAHET Napabil 74 89 163 54
KIPIHET = H 127 129 256 80
KIINPHET =5 138 133 271 85
KIIPIHET TE 207 229 436 155
KIIPHET Mz E 34 62 96 96
RINAETET 1,143 1,254 2,397 872

2 )IET f=H 55 52 107 30
28T P 38 41 79 16
28T Fia 34 34 68 15
2 )IET KEJ| 111 141 252 77
21187 By 57 68 125 41
£)IET 15E 187 197 384 139
=) HT INE 153 165 318 111
21187 M:ba) 154 158 312 106
2JIET 2i8 48 46 94 38
21187 IR 68 89 157 48
28T K 28 34 62 21
2187 - Eag 25 21 46 11
2)I|/T hvA=! 45 37 82 18
28T ZH 50 61 111 23
2 JIET TtE 34 34 68 19
£)IET VeIl 132 140 272 64
=) HT RE 55 63 118 26
2187 BEFH 94 115 209 54
2T 2 ¥ i 342 229 571 274
2)1ET HFEWER 6 39 45 45
£ )I1BTE 1,716 1,764 3,480 1,176
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X £ TEX4 5 = H HEH

K % 2 HT Kiz 121 140 261 67
K % 2 HET Bth 11 12 23 10
K % EET GEii 123 125 248 66
K % 2 HET HEE 64 7 135 40
K % EET B 52 44 96 23
K % 2 HET TN 73 77 150 33
K % EET EEIRE 43 43 86 20
K % 2 HET =e]il] 70 67 137 38
K% EET puipEs 60 70 130 39
K % 2 HET Ei 121 127 248 61
K % 2 HET EE 85 66 151 39
K % 2 HET B8R 63 68 131 36
K % EET Pus 106 91 197 51
K % 2 HET i 381 424 805 257
%IRRT ET 1,373 1,425 2,798 780

BREL =11l 52 52 104 25
R ZHT THE 150 141 291 74
BREL KINE 135 126 261 64
R Z HT INER 64 61 125 29
FR ZHT FFET 82 107 189 50
R ZHT FFE L 170 180 350 93
R Z BT [REE 185 198 383 91
R S HT HFH 237 243 480 137
R Z BT =i 66 77 143 37
R ZHT Bih 1 1 2 1
IR Z BT pN:i 48 60 108 31
R ZHT K& 87 85 172 46
IR Z BT HE 70 64 134 25
R ZHT a0 54 56 110 24
PR 2 BT ERiS 75 87 162 36
R:ELIES 1,476 1,538 3,014 763

KIIET B/ 178 213 391 143
KJIET A 71 76 147 59
KINET FRII 106 114 220 66
KJIET HF0O 125 136 261 53
KINET £ 97 121 218 63
KJIET 1] 122 124 246 69
KIJIET HOAE 1 1 2 1
KJIET Eqng 178 185 363 102
KINET gl 256 272 528 182
KJIET wa 100 123 223 63
KINET HEA 72 65 137 43
KJIET JIR 118 111 229 75
KINETET 1,424 1,541 2,965 919
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X £ T 4 5 = i HEH
NI %) 132 149 281 86
FAFET LR 68 64 132 38
NI T& 258 300 558 183
¥ ET T 88 95 183 63
T 7%= 48 49 97 32
NI EiR 78 88 166 48
NI b2l 103 96 199 59
NI &I 130 131 261 68
NI ABRK 45 37 82 27
NI =V 109 132 241 79
NI 5 112 129 241 73
UL = oB::] 97 106 203 63
N Eoga)ld 62 63 125 43

FAHETET 1,330 1,439 2,769 862

—EHr B/I\AH 634 728 1,362 541
Z BT 7o\ A5 266 280 546 201
—EHr JNE 843 926 1,769 666
=1 KE 508 523 1,031 367
—EHr s 110 113 223 86
Z BT AD &5 118 143 261 96
—EHr R 185 237 422 157
<1 EHF 109 125 234 80
—BHr fH 78 103 181 64
<1 =5 57 68 125 39
—EBH A 77 83 160 50
ZEBH aF 44 42 86 33
Z—BETE 3,029 3,371 6,400 2,380

B ET g 574 601 1,175 434
BILACET f=#0 72 68 140 54
BILACET RE 933 942 1,875 700
BILACHET HE 68 78 146 47
BILACET X fH 70 69 139 55
BILACET ko 195 216 411 128
HILCHT ENIN 166 203 369 131
BILACET HAAR 119 103 222 78
BILACET RAR 230 234 464 165
BILACET e 178 217 395 172
BILACET ER 73 89 162 73
BILAHET T& 16 15 31 10
HILCHT )N 121 112 233 80
BILAHET TnE 9 11 20 8
HILCHT NNAEF 114 130 244 72
BILACET H 7 7 14 8
B ILCETE 2,945 3,095 6,040 2,215
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X% TEX4 5 = H HEH
LA ET RAE 261 305 566 244
L ET A 510 530 1,040 409
L ACET =INA 67 72 139 46
L ET b 97 109 206 65
[t BT 23 68 65 133 52
L ET Bea 146 172 318 140
LA ET AR—RX 265 292 557 194
AT ARZRK 420 451 871 352
LT AR=ZX 151 178 329 123
L ET S 191 215 406 176
LT NN 125 151 276 128
L ET s 137 138 275 98
L ET M 158 170 328 157
L ET [ikz) 133 135 268 84
LA ET BRAR 55 50 105 37
L ET ¥} 2 58 52 53 105 28
LA ET %) 74 72 146 48

I ETET 2,910 3,158 6,068 2,381
5t 28,223 30,896 59,119 21,029
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